l
l
]

38-5
Tuba >
16,5

]

38-9
Tuba
13,7

el
%
7
\‘\
\‘\

Al i i " 38-4 T
WE/dugs
5.4

L B 1
36-6 ==
Tuba ~ = 38-8 —
12,5 ) Tuba
365 m — 19 ”E]
6 B L
4= —— 38-1
I — : Koridor \\\\\ ////r—
23,2 38-7 D
= —— L Tuba i
36-2 Garde- —+= 10,1 7
Elutdba-kik } F roob =+ EXETI = :
1 ﬂj\_ i | el ==
i =
w Lo sT ‘ Ot 7
- E—— L |2 il
At — : \LMJ 4 At " TREPIKODA 22,3 5 s i
OC ! VL) = Tub
n e =] B
e Q T Elz D
Bl | N —
mpm N = + T
13- 19-5 o=
Elutuba- Tuba & 373 —
IR kook 10,8 Vanni- || O
8% 306 tuba
' » [+6,23 | ar z
| J -
4 \Lﬂ\i M\—l i 35-1 H i | —ll T I
19-4 ; T «
E 17-5 —= Vanni- ) E(S)'E 13) 3 82,1 H:] [j
Pt Tg?;a |- 1E7ST|3 tuba V§}n1nifuba , 7 E eI
. 32 Al 37-2
& - 66 ‘ | 3 T Elutuba-kaok

TREPIKODA 25,7

= 19-1 35-4 F 37-7 J
— 4 |  R— E 480 x| 174 T 55”6( . @ / TBU.%E %352 Téj,%a D
== 7 aster == 3T TN [ED 13,1 ﬁ
o i : +4,66 = H 69.0 1 7
) L 01 1 [ 4 , - , o : - 7
O [0 I LI (= B3 7 — N e = —
5] 42 61,0 T S | I . — Elufuba- |
5-6 — o, 1 [ Elutuba-késk — ] ‘1 kook us ¢
: 53 5T He 2.6 | / - 28,2
% ' - 119 4 36,4 * - T 7 16-1 : \\ \
et ’ ® A : = \
N i = 53 [- ! I MESHEE] . e —u |
i TREPI- T - < LA
A KODA
= H T S 199 | +4,66 | o
15 ”\Vansn_i?uba 103: 9,0 §§
| g 2 i
/ 5-9
Tuba
\ 15,1

N

2. korruse plaan




